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Work -

- force x displacement

( The work done on an object by a force I

= ( That too
,

) x CThe displacement
of the object)

I

The net work on an object change , the
speed of the object

If the beginning and ending speeds of
an object are Zero

,
the net work on

that object must be zero
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If the beginning and ending speeds of
an object are Zero

,
the net wook on

that object must be zero
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Suppose an
i

object moves from x=a to E- b
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A varying force is applied to the object

FAK force oathobject at position X .

¥7As the objectKITTIE,
from position X to

position Xtdx ( where dx is tiny! the work done

on the object over that tiny displacement dy is

fcxldx
To get the work done over the interval Ca
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b) we use

an integral to add up all those tiny displacement,

fitcxldx



-

-

_#
t

by the force t CH

Particle fcx ) It 2x pounds

#
o X

lb
ft

f! =)!Cxhtzxldx

= ftx' t x ) ! ¥+8
= ft . lb

Hooke 's constant K > O

y
f

,
I X) -

- Force on Mass due to spring f
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